



Index

1.	Digital certificates	. 3
2.	Smart card readers	. 4
3.	Resending returned shipments	4



1. Digital certificates

STANDARD QUALIFIED DIGITAL CERTIFICATE FOR NATURAL PERSONS

Qualified digital certificates with one key pair can be used for secure electronic signature, encryption and access control.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
Issuance of qualified digital certificate	3,39€	3 years	10,16 €
RENEWAL – Collection of qualified digital certificate for NATURAL PERSONS	3,39€	3 years	10,16 €

ADVANCED QUALIFIED DIGITAL CERTIFICATE FOR NATURAL PERSONS ON SMART CARD

Qualified digital certificates with two key pair and mandatory use of a smart card can be used for secure electronic signature, for encryption and access control.

You need a smart card reader to work.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
Standard issue procedure Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	28,85€	3 years	86,55€
2. »QUICK« order The digital certificate is issued within 1 day after the submission of all necessary documentation and payment received.	35,58€	3 years	106,75€

ADVANCED QUALIFIED DIGITAL CERTIFICATE FOR NATURAL PERSONS ON USB KEY

Qualified digital certificates with two key pair and mandatory use of a USB key can be used for secure electronic signature, for encryption and access control.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
Standard issue procedure Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	34,62€	3 years	103,86 €





ADVANCED QUALIFIED DIGITAL CERTIFICATE FOR NATURAL PERSONS ON USB KEY
Qualified digital certificates with two key pair and mandatory use of a USB key can be used for secure
electronic signature, for encryption and access control.

2. »QUICK« order
The digital certificate is issued within 1 day after the
submission of all necessary documentation and payment
received.

41,33 €
3 years
123,99 €

2. Smart card readers

Reader type	Price with 22% tax
HID Omnikey 3121 (USB - input)	28,00€
ACS ACR38U (USB - input)	20,00€
HID Omnikey 3021 (USB - input)	20,00€
Manhattan USB Smart/SIM Card Reader Model 102032 (USB - input)	20,00€

Note: Goods and services are delivered or they start to be implemented after the payment has been made.

3. Resending returned shipments

	Price with 22% tax
Smart card or USB key	3,50 €
PIN/PUK code	5,00 €





